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Fruits nullify the partition — DX SHwan NP

OVERVIEW

"X ruled that if there was a pit (which was a °"7717) which was filled with m79, it
ceases to be a >"717 (it is no longer deep onow ), for the M0 nullify the mxomn.!
Our M»oin discusses when M are Mx°nn Yvan and when not.

mooIn asks:
= 50319 NYT 25590 19997 NINIY NI NIV INII 9NN ON)

And if you will say; but why are m7d different from the ‘fat fig’, regarding

which the X3 stated previously that it is not @22 the mwmn -
= (3,197 NP 7992 99NTI 19V NINY NI%272T XMWY NPY NN NINT »AN)

And »2R from our &3 here (who rules that mx°nn *>van M7°o), agrees with the
answer that this rule (2>°11 "» 7vn% 20152 "7 P717) was taught regarding a 79927

W, as the X7na states in the first P99, saying -
- 5919 NNY N7 NN 752 YT YN 3799 W Pt

Sometimes *°2X would explain this ruling by a wall which does not have a hole,

but it was a 719w 79927, etc. The question is why by a 71nw 7927 it is not Yvan the mxm»
and here by a M2 (according to the same **2X) it is 027 the 7%°mn.

NID0IN answers:
= M52 OV YLANNY 5 YD NIIY NN NDAATT 9D UM

And one can say; that regarding the fig, it is not destined that much to remain

in the wall, so that it should become 2 there to the wall -
= 4NN Py a3 MY HYvab 1’5’)‘1\0 ) Al)

As it is customary to nullify the fruits in a pit, like one does with grain —

nvoIn offers an alternate distinction:

"' We consider as if the M0 are part of the ™12, not something in the M2. The M™® are nullified to the M3, so now
there is no hole in the ground; it is all filled up.
2 See 2,08 and *XnR) 7"7 'o1n (at the very end) that one is not Svan the anw 79°27 to the wall, therefore the P
79°277 still has a 1°7 of a 9771, [This poof'is (stronger) according to '01n77 nuw there, than according to >"w1 N w.]
3 The X3 there asked a question on »ax (who maintains "7 1"713 2"77 >1n) from the 71wn of 7VA? PM22 R"7 PN
2»n “n. In any event it appears there that »ax agrees to the interpretation of > that the mawn is in a case of a 7927
7rnw, and it is not Yvan the 7w nn. Why here does »axk maintain that 7%°17 “202n M7,
4 The concept of My nn 91072 depends mainly on the intention; regarding a 72727 there is no intention that the 79°27
remain there for a considerable amount of time (it will fall down or be removed shortly), therefore it is not 2027 the
1" status of the wall. However when one fills a 112 with m17° the intention is that it be stored there for a longer
period of time; in that case it is 2027 the 7x°nn.
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= PRI NIV DN SN IN N9 NXIN M DAR XHVAN KDY XIN VI 927 NDrAT ) N
Or you may also say; a 17°a7 is a small object, and therefore is not Hvan the
mxrn, however when a ™2 is filled completely or halfway® with m=p; that is

buan the 9'':19 status of the M2 -
= TN MY HYVaN XY VI 927 IN THN I alaAlankin))

And indeed in the same vein, one kernel or a small item is not »van a >''7n.

n1voIN asks:
= (XY 1°2)9°Y) ])5"\ 7992 9N XN 71929 2D Y0¥NN 22N 9IND ON)

And if you will say; how can these n17°0 be vwn»n, for the X3 states in 17217 o -
= 50117 1PN NAWa YV 931 b

Anything which can be moved on naw does not diminish the nw- -
- 7Hawa YO PRY Y202 XD Y9N ON 1P99N)

And even if we are discussing here that he placed 92w in the 112, which may not

be moved on n2aw, so that is why it is H0an -
= 9109 NNAN 1IN PINN ENINN 11 HVIT 11D 0PI Yon

Nevertheless since n''5m the 20 may be moved, so why is the one who throws
into this pit 7wp —

NID0IN answers:
= 10519931 1929N) 79247 D5 LYNN NINN INIT PNYY 13929 IIINY

And the °"9 answers; that n'"n» everything diminishes the nMw", even

something which may be moved on naw -
= 110u910 1398 YN 9377 19T NID 13297)

And it is the 3327 who decreed that a ®©3;7 227 is not vy»» -
= 9109 19907 PN MNP NIN 1IN PINY 991 9IRP XY 1299109

3 This obviously means that there is no height of 27190 > above the ns.
¢ The reason is that since it can be taken away, we cannot consider it as being permanent; it is only when it cannot be
moved on naw that it is considered fixed in its place. See ‘Thinking it over’ # 1.
7%2v is food from which n1wym NN were not separated from it; it is not fit to be eaten, so therefore it is A%IPA
and cannot be moved.
8 All the laws of 7¥p1n are only 13277»; there is no n"m» 7¥pm. Therefore this 920 can be removed on Naw, so it cannot
be Svan the mx nn, therefore the M2 remains a >"717, and the thrower should be 2. See ‘Thinking it over’ # 2.
9 Presumably this does not include something which is temporary or a small amount as mentioned earlier.
10 Therefore n"n this M2 is no longer a >"7n even if it is filled with fruit which is nawa v°1, so n"An one would be
permitted to throw (less than X"7) from the 2"77 into this filled 12 since it is not a *"777, for M¥>n» “2van M.
I Therefore 712777 this 712 is a 1312777 °"77 and it is forbidden to throw from the 1";17 into this 712.
12 According to what we assumed originally that m¥>n» *5van M0 is a universal law; the rule should have been that
one may throw (less than X"7) from the 1"77 into this M3, for once there are no mx°nn the M2 should be part of the
1"77. Now however that we know that there is a 11277% 771 that 5v°37 927 is not D02, it is understood why it is not
721n5% MR, since 1277 it is a v"'an.
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So therefore »aX did not say it is permitted to throw into it (from a 3"77);

rather »°2X said one who throws into this pit is 21D -
— NIN 12297 RNOINT yavn

Indicating that there is an 229772 910K, for this M1 is a 112772 °"m.

Mmoo adds that this rule 11277 that Y937 727 is not y»» is even X7PY: 13
= VYNN 1PN VN 37T NN MM INVY PaY \*IN 199N

And even regarding a ditch between two courtyards, the 1127 said that a =927

bY93T is not VyHn -
= YTTAN YYON NI4T 15999 %17 2) Yy 9N

Even though this is a leniency, so that the two M7°xn are not 99X on each
other.

n1voIN asks:
SNSPYNNT DAN 12D N7 16920 1NINDMIY N2 DY 251 (ow) PN PI93T NYP NP VAN

However there is a slight difficulty, for in %1 P95, he cites this issue of w2
mxnn regarding a house (in which there is a corpse), which was filled with
straw, this is regarding 278 nxmv, which is 0", noo1n does not answer.

SUMMARY
Mo are not M¥°nn van if either they will not remain a long time or are an
insignificant amount. A nawa 117 127 is 0" MY Y02 but not 131277,

13 This explains this which the X713 states ono that a 91’177 927 is not VYM; meaning even XYY, See X"WwIA.
4 Two courtyards which are open to each other; if one %11 did not make an M7°¥n >217°y, it prohibits the members of
the other 7xn to carry (in their own 2%r) even if they made m=xn *27y. If however there is a ditch ("7 2am™ " pny)
separating the two m7¢n, then the m7°xn are considered separate and one 7¥17 cannot be 10 on the other 7¥n. Even
if the ditch was filled with a nawa %177 127, it is still considered as two separate 0737, because 132777 a 9117 137
naw3 is not VYN,
15 n"an since even a Nawa “v17 727 is LYMA, so there is no ditch to separate the two %7, and one 7% would be 10X
on the other (712777, for the whole concept of Mm% *217% is only j127771), nevertheless the 7127 instituted their rule
that a Sv°371 127 is not vyan, so the ditch remains and they are not 70 on each other. The 1137 can be %p°» on this
RN™MIRT, since N7 there is no MO°X to carry in a 7¥n without an 217°Y; only 712774
16,1y 127w, The rule is that if a corpse is in a house everything in the house which is under the same ceiling as the na
becomes Xnv; however anything which is on top of the house is 170 because the roof/ceiling stops the xm=w. However
if there is a cover on the n» which is less than a ndv above the n»n (there is no mdv N1 between the n» and the
covering), the IXmW pierces this 7¥1m and continues upwards and is Xnv» anything above the n». This is called aR©w
7¥1¥7. The issue here is regarding a house (which normally would prevent the 7xmW from going through the roof),
which was filled completely with straw, the question is whether the roof is still yx, or (since there is no 159 1iNBv) is
it a X7 IRMw and whatever is above the N1 on the roof is also &nv. Previously mnoin taught that n"nn anything is
Svan the M¥ nn even a Pv°17 127; it is only 1312777 that a Yv°37 727 is not Pvan. Accordingly n"in it should be a nRmW
73137 and the objects on the roof should be Xnv, however 1312777 since the j2n is a Pv°17 127 it is not Yvan and there is
a 11ov M9 so the items on the roof are not Ax™W 22pn. How can the 1327 be %27 on a XN 7IXT by 0" axmw?!
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THINKING IT OVER

1. Mmoo asks that since the N7’ are a 1371 127, so they cannot be Yvan the mwA.!’
Seemingly if they cannot be van the mwA (for they are a 2v°171 927), so the M2
remains a >"717, and if it is a *"777, the M7°d cannot be removed from the 712, so they
are not a 71371 727; how do we resolve this conundrum?'®

2. mooIn argues that since Y2V is a N"n Hv°17 127, so it cannot be Yvan the mwA. "
However the fact remains that presently it is not a 5v°17 727 (regardless why), so
therefore he is certainly %van it. There should be no difference what is the cause
why it is not a Hv°177 727; only whether practically it is a Y0177 927, or not!?°

17 See footnote # 6.
18 See nnx now.
19 See footnote # 8.
20 See R X2PY " .
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